A-left – Vrbičanka stream x B-right – Prušánka stream
Questions:
1) Which part of watershed (A or B) leading into reservoir has higher:
a. [bookmark: _GoBack]Mean slope (A=… ; B=… )
b. Average soil loss (A=… ; B=… )
2) Where is the lowest point and highest point of the Prušánka watershed?
a. (A or B)
b. Highest point= value
c. Lowest point= value
3) Which stream leading into reservoir accumulate larger area? (in place where water stream touch reservoir)
a. Vrbičanka or Prušánka (A or B)
b. Calculate the values  A=… ; B=…

Description of your approach:

